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1. Find the vertex form of the quadratic function whose
vertex is (4,1) and that passes through the point (6, -7)
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1. Find the vertex form of the quadratic function whose 2. Use the previous function to find where f(x)<0. Round
vertex is (4,1) and that passes through the point (6, -7) answers to the nearest tenth.

f(x)=-2(x-4)*+1
f(x)=-2(x-4)*+1

Jan 22-1:15 PM Jan 22-1:20 PM

2. Use the previous function to find where f(x)<0. Round

{Pause :: What if we wanted to find where f(x) > -47?}
answers to the nearest tenth.

2ND TRACE
f(x)= '2()('4)z +1 5: Intersect

Scroll to your intersection point
ENTER
ENTER
ENTER

(-0,3.3)U (4.7,0)
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3. An online music company's profit function is given below, 3. An online music company's profit function is given below,
where x is the number of songs sold per week. Use a where x is the number of songs sold per week. Use a
graphing calculator to find the number of songs a company graphing calculator to find the number of songs a company
should sell per week in order to maximize its profit. should sell per week in order to maximize its profit.

P =1.75x—(0.0005x" +500) P =1.75x—(0.0005x" +500)

1750 songs
Jan 22-1:25 PM Jan 22-1:25 PM
4. Use the graph to determine the function's degree (even or 4. Use the graph to determine the function's degree (even or
odd) and sign (+ or -) of the leading coefficient. odd) and sign (+ or -) of the leading coefficient.
N ’ Odd degree
: \ ; \ Positive leading coefficient
AR .

Jan 22-1:25 PM Jan 22-1:25 PM
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5. Use synthetic division to show that x=-3 is a solution of 5. Use synthetic division to show that x=-3 is a solution of
the following equation. Then, use the result to factor the the following equation. Then, use the result to factor the
polynomial completely. List all real zeros of the function. polynomial completely. List all real zeros of the function.

3 +2x* -19x+6=0 3 +2x* -19x+6=0

Factored Form: (x+3)(3x-1)(x-2)
Real Zeros: -3, 1/3, 2

Jan 22-1:25 PM Jan 22-1:25 PM

6. List the possible rational zeros of f. Then use the graph to 6. List the possible rational zeros of f. Then use the graph to
determine all the real zeros of f. determine all the real zeros of f.

Possible Rational Zeros: N
+1,42,43,+4, 46,49, +12,+18,+36,
il,ig,ig,i
2772772
Actual Zeros:
330,
4 2 22
f(x)=4x"-55x"—45x+36

f(x)=4x"—55x" —45x+36

Jan 22-1:25 PM Jan 22-1:25 PM
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